
REF. 

NO. 

8 

PART NO. 

067-0549-00 

Serial Number 

067-0549-00 CALIBRATION FIXTURE 

SERIAL/MODEL NO. 

EFF. DISC. 

Q 

T 
Y. 

Type 410 Input Adapter 

DESCRIPTION 

When used in conjunction with standard electronic 
signal generators, the Input Adapter for the Type 410 
makes it easily possible to apply all input signals re­
quired to check the electrical performance of the Type 
410 Physiological Monitor. The Input Adapter contains 
various switches, networks and connectors to conveniently 
test such characteristics as triggering, vertical size 
calibration, common mode rejection, AUX power voltage, and 
to adapt to all combinations of input connections. The 
construction of the Input Adapter is such that all input 
wiring is guarded by applying the "bootstrap" signal from 
the Type 410 to .cable shields and to an inner case. Thus, 
tests of Common Mode Rejection are performed in the same 
environment as recommended usage of the Type 410 dictates. 

DATA SHEET 

NO. 062-0933-00 
DATE Oct. 1968(R) 

~! ~~~i~~~~~ ~J~~B 
~~ ALL RIGHTS RESERVED 



TYPE 067-0549-00 

2 

SWITCHES 

The INPUT SELECTOR switch on the Input Adapter complements the INPUT 

SELECTOR switch on the Type 410. That is; if the Type 410 is set for EEG, 

the Input Adapter must also be set for EEG. The same applies to ECG and 

AUX. If, however, the INPUT SELECTOR is set to ECG, the ECG LEAD SELECTOR 

switch setting on the Input Adapter also must coincide with the ECG LEAD 

SELECTOR switch setting on the Type 410. If these conditions are met, the 

proper input connections via the Type 410 INPUT connector will be made. 

The +ATTEN and -ATTEN switches provide separate attenuation ratios 

for the +INPUT and -INPUT terminals. The +ATTEN switch allows either XlOO 

or Xl0,000 attenuation. The -ATTEN switch allows either XlOOO or Xl0,000 

attenuation. 

The COMMON MODE INPUT switch connects the circuit ground of the Type 410 

to a chassis ground or to terminal. J8. The latter connection allows the signal 

ground in the Type 410 to be driven by a test signal to determine the guard 

voltage efficie~cy and/or the Connnon Mode Rejection Ratio of the Type 410. 

The INPUT MODE switch is also used in Connnon Mode Rejection tests to 

either balance or unbalance the impedance seen by the inputs. A 4.99 k ohm 

resistor is inserted in the +INPUT line by switching the INPUT MODE switch 

to +UNBAL. The resistor is placed in the-INPUT line when the switch is set to 

-UNBAL. 

The blood pulse mas be simulated by connecting a low frequency sine wave 

generator to the TRIG INPUT and setting the TRIG TEST switch to ON. By re­

ducing the generator amplitude, the triggering threshold level of the Type 410 

can be determined. 

A 



E 067-0549-00 TYP 

3 



4 

FIG. & TEKTRONIX 
INDEX PART NO. 
NO. 

1-1 

-2 

-3 

-4 

-5 

-6 

-7 

-8 

-9 

-10 

-11 

-12 

-13 

366-0220-01 

213-0020-00 
E260-0943-00 

210-0840-00 
210-0413-00 

366-0220-00 

213-0020-00 
E260-0944-00 

210-0840-00 
210-0413-00 

366-0220-00 

213-0020-00 
E260-0940-00 

210-0840-00 
210-0413-00 

260-0613-00 

210-0940-00 
210-0562-00 

260-0613-00 

210-0940-00 
210-0562-00 

MECHANICAL PARTS LIST 067-0549-00 

FIG. 1 EXPLODED VIEW 

SERIAL/MODEL 
EFF DISC 

Q 
T 
y 

DESCRIPTION 

1 KNOB, .charcoal--ECG LEAD SELECTOR 
knob includes: 

1 SCREW, set, 6-32 x 1/8 inch, HSS. 
1 SWITCH, unwired--ECG LEAD SELECTOR 
- mounting hardware: (not included w/switch) 
1 WASHER, flat, 0.390 ID x 9/16 inch OD 
1 NUT, hex., 3/8-32 x 1/2 inch 

l KNOB, charcoal--INPUT SELECTOR 
knob includes: 

1 SCREW, set, 6-32 x 1/8 inch, HSS 
1 SWITCH, unwired·-INPUT SELECTOR 
- mounting hardware: (not included w/switch) 
1 WASHER, flat, 0.390 ID x 9/16 inch OD 
1 NUT, hex., 3/8-32 x 1/2 inch 

1 KNOB, charcoal--INPUT MODE 
knob includes: 

1 SCREW, set, 6-32 x 1/8 inch, HSS 
1 SWITCH, unwired--MODE 
- mounting hardware: (not included w/switch) 
1 WASHER, flat, 0.390 ID x 9/16 inch OD 
1 NUT, hex., 3/8-32 x 1/2 inch 

1 SWITCH, toggle .. -+ATTEN 
- mounting hardware: (not included w/ switch) 
1 WASHER, flat, 1/4 ID x 3/8 inch OD 
1 NUT, hex., 1/4-40 x 5/16 inch 

1 SWITCH, toggle--C:MR TEST 
- mounting hardware: (not included w/switch) 
1 WASHER, flat, 1/4 ID x 3/8 inch OD 
1 NUT, hex., 1/4-40 x 5/16 inch 

B 



FIG. & TEKTRONIX 
INDEX PART NO. 
NO. 

1-14 260-0613-00 

A 

-15 

-16 

-17 

-18 

-19 

-20 
-21 

-22 
-23 
-24 
-25 

-26 

-27 
-28 

~29 

-30 
-31 

210-0940-00 
210-0562-00 

260 .. 0613-00 

210-0940-00 
210-0562-00 

129-0064-00 

358 ... 0181-00 
210-0457-00 

E386·1295-00 
E333·1026-01 

211-0510-00 
210-0006-00 
210-0203-00 
385-0097-00 

E386·l296-00 

211-0101-00 
385-0109-00 

E380-0121-00 
348-0003-00 
348-0005-00 

TYPE 067-0549-00 

FIG. 1 EXPLODED VIEW (cont) 

SERIAL/MODEL 
EFF DISC 

Q 
T 
y 

DESCRIPTION 

1 SWITCH, toggle--TRIG TEST 
- mounting hardware: (not included w/switch) 
1 WASHER, flat, 1/4 ID x 3/8 inch OD 
1 NUT, hex., 1/4-40 x 5/16 inch 

1 SWITCH, toggle-- ·ATTEN 
.. mounting hardware: (not included w/ switch) 
1 WASHER, flat, 1/4 ID x 3/8 inch OD 
1 NUT, hex., 1/4-40 x 5/16 inch 

5 POST, binding 
- Il}Ounting hardware for each: (not included 

, w/post) 
1 BUSHING 
1 NUT, keps, 6-32 x 5/16 inch 

1 SUB-PANEL, front 
1 PANEL, front 
.. mounting hardware: (not included ~/panel) 
4 SCREW, 6-32 x 3/8 inch, PHS 
1 LOCKWASHER, internal, 1fo6 
3 LUG, solder, SE #6, long 
4 ROD, plastic, 2 inches long 

1 PANEL, internal 
- mounting hardware: (not included w/panel) 
4 SCREW, 4-40 x 1/4 inch, 100° csk, FHS 
4 ROD, plastic, 5/16 inch long 

1 HOUSING, wrap-around 
1 GROMMET, rubber, 5/16 inch diameter 
1 GROMMET, rubber, 1/2 inch diameter 

5 



TYPE 067-0549-00 

6 

FIG. & TEKTRONIX 
INDEX PART NO. 
NO. 

1-32 

-33 
-34 
-35 

-36 

-37 

-38 

-39 

-40 
-lt-1 

-42 

E200-0276-02 

211.-0097-00 
210-0004-00 

El.29-0151-00 

210-0259-00 

210-0405-00 

El74-0454-00 

210-0049-00 
210-0579-00 

136-0098-00 
E390-0019-00 
EZ00-0277-02 

348-0062-00 
211-0532-00 

FIG. 1 EXPLODED VIEW (cont) 

SERIAL/MODEL 
EFF DISC 

Q 
T 
y 

DESCRIPTION 

1 COVER, bottom, internal 
- mounting hardware: (not included w/cover) 
4 SCREW, 4-40 x 5/16 inch, PHS 
4 LOCKWASHER, internal, 414 
4 POST, hex., 1/4 diameter x 1.370 inches long 

4 LUG, solder, #2 
- mounting hardware for each: (not included w/lug) 
1 NUT, hex., 2~56 x 3/16 inch 

1 CABLE ASSEMBLY 
- mounting hardware: (not included w/cable 

assembly) 
1 LOCKWASHER, internal, 5/8 inch ID 
1 NUT, hex., 5/8-24 x 3/4 inch 

2 SOCKET, tip jack, w/hardware 
1 CABINET, wrap-around 
l COVER, bottom 
- mounting hardware: (not included w/cover) 
4 FOOT, plastic 
4 SCREW, 6-32 x 3/4 inch, Fil HS 

A 



TYPE 067-0549-00 

SCHEMATIC 

,------------
1 

( 

.... 
l+1~PUTj J01 ~-::-~'·'N'~-'1.:::.0+-9~~~-'-~_..:._~-.----!~-+.-~-1 

I 

I 

... I 

<r-~~~·~~·~~~ : 
~ 

~ E 
T 

A 

r---
1 

I 
I 
I ?--~~~~~~~~.:......~-4----j.J-!~--l-~~..!-L-~ 
~----
' 

TP 
(-Pw!l.) 

7 



ELECTRICAL PARTS LIS.I.' 067-0549-00 

Values are fixed unless marked Variable. 

Tektronix Serial/Model No. 
Ckt. No. Part ~o. Eff Disc Description 

Capacitor 

Tolerance ±20% unless otherwise indicated. 

290-0305-00 3 µF Elect. 150 v 

Semiconductor Device, Diode 

D4 152-0141-02 Silicon 1N4152 

Resistors 

Resistors arc fixed, composition, :1:10% unless otherwise indicated. 

Rl 321-0637-00 9.9 k.n 1/8 w Pree 1/2% 

R2 322-0624-01 990 k.Q 1/4 w Pree 1/2% 

R3 321-0636-00 100 n 1/8 w Pree 1/2% 

R4 E321-0645-00 100 k.Q 1/8 w Pree 1/2% 

RS 322-0621-01 900 kn 1/4 w Pree 1/2% 

R6 321-0636-00 100 n 1/8 w Pree 1/2% 

R7 322-0289-00 10 kQ 1/4 w Pree 1% 

R8 321-0260-00 4. 99 kQ 1/8 w Pree 1% 

Switches 

Unwired or Wired 

SW3 260-0613-00 Toggle, Mini + AT'fRN 

SW4 260-0613-00 Toggle, Mini TRIG TEST 

SW6 260-0613-00 Toggle, Mini - ATTEN 

8 B 



Ckt. No. 

SW7 

SW8 

SW9 

SWlO 

A 

Tektronix 
Part No. 

260-0613-00 

E260-0940-00 

E260-094L1 ··00 

E260-0943-00 

Serial/Model No, 
Eff Disc 

Switches (cont) 

/ 

TYPE 067-0549-00 

D'escription 

Toggle, Mini CMR TEST 

Rotary INPUT MODE 

Rotary INPUT SELECTOR 

Rotary ECG LEAD SELECTOR 

9 


